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Question 4
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H'(6) 1s the rate at which the height of the tree 15 changing, in meters
per year, at time r = 6 years.
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Because H is differentiableon 3 < ¢ < 5, H i1scontinmuouson 3 <7< 5.

By the Mean Value Theorem, there exists a value ¢, 3 < ¢ < 5, such that
H'(c)=2.

The average height of the tree over the time mnterval 2 < t < 10 1s given

by — 51 d
y 10—2[3 (7) dr.
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The average height of the tree over the time mterval 2 <t <10 1s
263

ﬁ meters.
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According to the model, the rate of change of the height of the tree with

respect to time when the tree 15 50 meters tall 15 % meter per year.
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